AN R

ik

B B B W

o

Y N 1Ty o o P T e e T T e R P

= 3

|

el
R







B Ve (R
EEGAERBBEE

-  m B AR KB
B w8 H,® 8 :

A R A R Kk B
BRI b AR K 5 E R i \
(A > 3 tace) ‘

—WEHEETH B S —RE = RER
33922(3004-20-- 3002)




mo
E==E

smE

SEE

T Y o S i i CORRE a1
(1] 371 - 23 3

L}



”ﬁsﬁ ﬁﬁ&ﬁgﬁ

B E 36 E—-F'i%*f;"i(iiﬁﬁﬁ;’%ﬁ# NH&""’
m,2,8, - Kea,b, ¢, - BRIEAEARE W RIAE A 13

Tl MR iw,y, 2 R TR By S, AR

il Y- RS R , BNy R R T 2 » By B B B

e 3 rh oo e B B, y LR BB o DA T AR R R R

y=f(x) % y=6(x) & F(x,y) =0%%.
i y=2*, y=2x+1. F(x,y) =ax+by+c =04,y
f 25 e e 4 ffia o 5 W3 B Y B B R
B R ERAL S R R E A= 22,
2. [EGRIZRPEREY 1=2nr,
lﬁlﬁﬁflﬁﬂif&‘éfﬂ’lﬁﬁi A=m1,

4, ﬁ%ﬁﬁﬁt’&ﬁﬁﬁﬁﬁ%ﬂaﬁrm&& V-—ms B

[
.

o
.

4-41:r2
5. HEEFIMERES AR MANES S= e,
6. M REFKI B SRR ) i PV =C.

7. FERSYET5 T EULRG dh R A p T2V RIIRG d Bk
B ENRBERBEU=pg, Hein KGR ST

i Snadeiarndaliia §




§2.

mﬂmnuimmc
8. E%#*“#ﬁﬁ%»ﬂ$ﬁ&%¢ﬁ&”iﬁ%
Heskh AR BRI, KRR R
BBk 3
BTk, Ry =1(2) b, yE R R RS
b2 T I e , Sy B — A —FE Gy =/ (%), B
e BE L2 — B, Sl A BR T R AR 22, ek
HFWE SN, f— ARl D SRR EERT . (25
WS+

g B Ry =f(0) Z R B (1) LEEEAR HRL
— G, e AR L 2 (2) A — BB AR A
LE. ,

R A BRI Ry =/ (x) DMk B B R, MR

WhgCH R B , SR TS R AR I, R DA
i W5 [ s LB T T ST 1 IR . S T W
LI T2 0 TR SRS LB SE B B 7 B E e, U)
B8 AR LR AN P o PR B — A 5 2.

DIFE R b BB RSB 0. B y=0Rx BN
BBy MI G B R =0; B — K = RN B
Ry =% 5B RETRR IR Ry =~

FEMBEHE (1) BB T » 32 , AMRAE y RIS B9
Yy=1(x) B (2) TEIMMEHABT , A HMBHE RS , A
Flil%) RENE R, =¢(E) 8 FTEEABKNEE:




AT
-
.
4

emechcancaun o -w
) -
As
i m
N
\

&1 & 2
§3. BMASE. OhF R RS AREEN: |
C () WA, ST B B e AE—
B By A7 AR s A L By =) L AR B
ST ity = o/ % = . YA i B i
HYTE AR R 20U — . S 0 B T S ) TR 2 A
B2 5 A T 45 M 2 B 2 PR s T
BB n B, Wy = ++/F—1 WEIE, By=+VF—4
B, C RO LA L R By = — /A4 B, R
>l R AR E. 3 . S
Yo . RSB T RSy 2
LA i SRR 380 s ) y=£( ) 45 BB T e 90T A
W Fy 2 5 BN SR, By =) 5 50
A B P o L
(SVBEURA B,  #/(—%) =f(x) Bly=F(#) UHix
WIRER. iy =4%, y=t/ =4 JEf(—x) = —f(%) 1
o =(x) UL xR 3 BRI, B Ay =0, '
() B BCRIBIR R, HORHRIRH R B B ¢ 1RO

10



- e

B IR B BT LA, ) =0, F(x,y) =04 (x,y) =0%F,
02— by +3 =08 + 91 =5, i AR MHH % B2 AT & HI B9 B
B SRR R Ly =/(x), y=F (x) ey =9 ()%, 1

2+3

y ==2

Ry =iyid=s o 3

(%) REEME T, 3BT M2, et
BB R WG . B EDRETS
Hy=rvfllz= 5. K ‘
vy UHCELAS . T 3 1)
1R+ WO BCH S T O (R 1L
B, AIE BBy =x
EAR A BBy = 2, ;
y=y/% =@ ¥ 2z @ ¥ m
B 3 57 s ' & fi3
R A Y 9 it
EEtmegs o | g b
WA, BAWBLE A<%___f :
A(%1,51) BeB(xs,95) 3K : . i 3 :
S4TSR AB. ot A s, -
4 HAABCEE A=A i s
W, M e,
VB wdD On

co AB T =(1—%1)*4 (93=9)?

-




= ;-‘.AB:I/(%_x;) 3% (yz_'yl)z....... R (1)
Y kP (1,2),0(3,6) RBiMI A e, -

=1, y1=2 .. d=y/(3—1)*+ (6—2)

%y=3, Yy="6 =vV4+16 =2/ 5 =4.47(%).

HEL., SR I Y
(6) P(1,2),0(4,8)  (&)(a) +/T07
() P(1,2),Q(—=4,3) (&) () V26
2. —=ZABZ=HEZA(-4,-1),B(2,1), C(3,
—9) RIS BT WA B EAS .
(g) AB= 2,/10, BC=3/10, CA=5,/12,
(O wAE BB )
§5. EHOoER BB, FRA(v,y1),B(x.y0) ;

K—BP(w,9) B pp=h 4
Al 4y ABB B 1[5 4n R st 'B(%,4)
4,P;:P,B,=AP:PB HI o PO -
g s ! '
(x—21): (%2—%) =N, - AR é
#(14N) =%+ My R
: o
] |
+ A 1 Il 1 X
='ﬁi"+}: . Lo e @
(2) 2,

5 % =y1+1y2 %
RBR restr iy o -



§6.

P (v,9) BAB2 RV E HBIE, VHR 585 %P (x,5)
B AB: 4 A oS B, B 58 1), F5 P RS ABR) v
HiA=17i43

% g ¥ e ’(M

CBID  —BP(x,y ) REBA(2; —5), B(—3,4) Z LR 4L

=2 it A S PR i 5
f ALK
; 2—%; . —5+%4 «
Soad y_T%_._____g,
RARIORHE,  ELARBRZ I 1 RIE 2 FHBR 4 6 .
F R ARSI b
L N S
WHETRAP 7 4.
T

of ™ AN oox



FEE6H, AM >0, MP>0

MP

..'M$=W=t

/ =
and >0

3 §

FEETH, AM <0, MP>0

MP

.'.ﬁl»gi;m—:mn 9 <0

ERAAAEHHEEDZARKREN, &7~

L OHERGT
S| 0° | 80° 45°| 60° [90°| 120° | 150° [180°
2 & | o .77 141.732 ipe 1-—0.577! ol

)

B FLAR Nl /AT B RO R A R20° 5 180° . Rk, —H
AT AR/ RO K AR 180° S F AU 45 R B 7+

Y

f] 8

& 10

V1L
]
_/o/ N £
@9
‘y
O =80
o p 4
11




HO=Hp=180 ° ™

—=tanphd =ow,

Rt 125 R
e R
m=rta" @ _AM i ‘

p 4
Pl gt e R e :
Xo— X1 (5) ' [&12

BREEP (%1,51) Q(%2,52) FiE EHRHAEDAERILINE
BLER.

§7. PAEMMANNGE. —~EAERREENET, AiY
= A iiox , oy By A, BV B LG, BHAR BT e P
B TR R I WG — R AR i 22 A kS 9; — R
5k 1 22 10 45 W S R 1 OB

BRI 22 A b SLIO T S0 1287, 5190 A 12

QA BB, 8 (5) T HEAE PR—E THROM I, Him
K, BHA O Wk 5 RO— 2 T PRI Mg/, R34k i
Bk 24 O AWK, BDZ i 30K, AR A 9 L A IR
22 7 S PR SR i I T ASE IS OLA SRR , AU
m FHETR WK TSR B koA T B CAE SRRk MR 3 »
FRICHA | BRI O I 1 BPQ BT B A
- 6=0°, RQ=0 #RldEm=0, IPIHR0, MR HR0°K 7

RS L Bridn: FAEm RAE— WM, AR &

G f. RiAim=00%, QA0 =00 A HOE g, K

YA~~~




- EZE WD R m 248

S WP L NP Tl W TR

L.y
AR WSRO A, REMAUER AT < R R
B0 JURA 0 =90°0hL
I B RR ST
SRR B Z2 A T
0 T A R 18 BT » B S
0 Rl F, 2Em B A (3)
T #edn . EPR—E RO %,
Rim 248 BHE AR, 240
BK.ERQ —EMPR 2@

ERWAK, HFA0 LEWA @
ok, B Zm o8 M, RURYA D L, RRZIRIESE,

35 PR 48 SHESSSEE W N ST R0 AR, QIR
m 2 48 B PR W7 R T8 B e A T DL B e

By — oo R EIIIEA . B 52 6 MBI 90° % PO 7547
e, 3458 0 =180°, RO =084 dkim =0, HIZH4 iy £ 9l
JTHY0 B, RIZHAET 1A 180° . I Z IR IK SE.

RO LRl # R AR RN, RIRAR RS
£, B AMEEER0 B, AIRMAIEIEIN 1800, HAtE
m 2 (B L, A ARES LR A, BAE
m 2 48 BRI S T D) — RTINS RS
0 =90°. LIS 7 #RAESE -

gﬁﬁ%ﬁ%ﬂ%%ﬂ%w@w@n@m%&mﬁm,
SLIR /N, AR Fo TR

i




10 .

B 1. R4 SR 2 ELAR AR, 1 AR 35 28 5
G PR A A BE 2
(a) (3,=2), (5,=7) (&) (—2,3),(5,~17)
(¢) (=2,-3),(3,2) (&) (—8,3),(2,3)
(e) (3,2),(5,=7) (S)(8,=4),(=2,—4).
2. KRR EEPRAB AR, R A/ I
B 1 26, :
BES. H(3,1),(5,4) EAGEAGNE (7,8), (5,0) %
AR T FAT?
B4 FIAEREY(1,2),(2,4), (2,6) SHFE—HR L.
R(1,3),(2,3) 5 (3,9) B R IRFE— M E?
§8. EMMTERLEE. ERZLRZREEONE. &
KIH R
(—) BEBMERHE. 76855 0ZE# OP L)
—BEA(1,m) B 0RE P (x,y) BOPL Ay FE—55, R B 14 57

':l:\'ﬁ_Fbei .ry e
Pcx.y3
j yix=m:1 = B :
WHEMR TR : an |y
y=m'r.............-.(6) = N
Heo REGONE, —  ° %
BEZ AR Rl 2= 14

e,y B2 TR R R o BB B2 — W




mgm, : A
D % Hy (O) i BB (o) 2 K A5
A BVBRAE — EARC = Kaht 3.
12 5ok — MR AT B STl » A B 2, U
y =M T AT R AR T AR
BAL. T AIEARS F R,
(@) .y=2 () y=—x () y=/3%
ER) BEER (o)1, (0)—1,(c) V7.
(2) FREHMERTR. SREFIE 5 2T
¥y =mxEfEy % b2 H
B0 =b2 EMEH .
KW y=PM=MP 4+
PP=mx+b

WB y=mxibe.. (7) 5 ’; g
ig 77 ' — M MHEARHE K.
2. fEFAIER. fif 15

(a) y=22+1 (D) y=—2+2 GB-R) sk Mo{E.
3. BURAATR i, Eyi k2 R 502 W TR
AT RYE, FE % Wik ZRIE Ba EMRS .
(&) y=b,x=a,

(2) BT BT e E R AR T 2.
(1) BRR.  —EARAB P (v, 50) B, B . (8
EP(x,y) TR LAT—B - RIE P (%1, 91) 1P (x,y) 540
A AR, 13



i - . X

@16

- jn’ i AN

x—1x
AT s S RS T
PUImRAIE (3,2) %5 BHER 5 WMEHR S . Bm=5, x=8,
11=2RA@8) fy—2=5(x—3). fLior—y=13.
(2) mEX. EﬁﬁﬁPl(’xl.yl)*ﬂpz("z»}'z)mﬂh
Uk
m 2=V

Xg—%1
RAMBE
y— B2} —y2 yl (x—-xl) Mot sse sarnd (9)

(%) ﬂzﬁ(l 2)R( 8 5)--%5#)@&75’&%

_e‘l(x 1)BI8x 4+ 4y—11=0,

e

(8) MEEX. —FMRfE~Eh LIEIE e, 7EyHh L 1Y



B 55 A8 A(a,0),
Bo,5) i fo A () B8

® gt

oy e e AGIN, X -
—a>+7-—1 . l \
, (1()) 17
(R ‘Eﬁﬁ?ﬁiw&%ﬁiﬁﬁfﬁﬁﬂ - i
. WD RIFER r—y+1=0 %Edﬁ BIHE
x—y=-1, : . _’ A ¥
S edai :
1 b = 1 Aq
[ €7 kR :
¢=—1,y‘~$}§hﬁ’:’) 4) ks
BEb=1. / :
A %
() #EK. PR 5
- REB ;
4%+ By+C=0 {8
R-EHREEB 18 X

OQHEW'B}’: —Ax'-,c
SO
&b <M

£1(7) 0 M, 4



